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10° 236.25m/s 144.62m/s 138.71m/s 378.22m/s 25.05 m/s
10 74.71 m/s 45.73 m/s 43.86 m/s 119.60m/s 7.921m/s
1 23.63 m/s 14.46 m/s 13.87 m/s 37.82 m/s 2.505 m/s
4.57x10™" 15.97 m/s 9.78 m/s 9.38 m/s 25.57 m/s 1.693 m/s
4x10™" 14.94m/s 9.15m/s 8.77 m/s 23.92 m/s 1.584 m/s
2x10" 10.57 m/s 6.47 m/s 6.20 m/s 16.91 m/s 1.120 m/s
1.6x10™" 9.45 m/s 5.78 m/s 5.55 m/s 15.13 m/s 1.002 m/s
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108 2.36x10°m/s | 1.45x10° m/s | 1.39x10°m/s |3.78x10°m/s | 2.51x10* m/s
10° 7.47x10%m/s | 457x10" m/s | 4.39x10"m/s | 1.20x10°m/s | 7.92 x10” m/s
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g 0.139] 0104 5997 7.99 160.015 0.017
12| 0.208] 0.156 8.08 11.92 150.12 0.017
16] 0276 0207  11.943 15.771 140,343 0.017
200 0342 0257 14.879 19.514 130.728 0.016
24l 0407 0305 1778 23.119 121322 0.016
28] 0469 0352 20638 26,55 112,174 0.015
3| 053 0398 23443 29.772 103.342 0.015
36| 0588 0441 26186 30,742 94.886 0.014
40| 0643 0483  28.854 35.414 86.878 0.014
44 0695 0522 31434 37.736 79.396 0.013
48] 0743 0558 33912 39.647 72.529 0.012
so] 0788 0592 36271 41.082 66.376 0.011
so| 0.829] 0.622] 38492 41.967 61.05 0.01
ss| 0.848) 0637  39.544 42,177 58.735 0.009
59 0857 0.644]  40.062 42.248 57.628 0.009
60| 0.866] 065  40.562 42,247 56.63 0.009
64| 0899 0675 42436 41.745 53.382 0.008
68| 0927 0696  44.114 40.455 51.318 0.006
700 094 0705  44.868 39.472 50.792 0.006
A 0946 071 45231 38.925 50.612 0.006
72 0951 0714 45571 38.282 50.576 0.005
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74 0961] 0722  46.192 36.769 50,846 0.005
76 097 0728 46757 35.027 51.46 0.004
0| 0985 0.739]  47.676 30703 53.946 0.003
g4l 0995 0.747 433 25.2 58.2 0.002
88| 0999 075 48616 18.463 64.305 0
90 1| 0751 48655 14.622 63.067 0
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0 0 0 0 0 180 0
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0.999| 0.744| 48.039 16.154 67.769 0.002

1| 0.744] 48.077 12.309 71.536 0
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